4

UNN 1 NANAYINISUIUSNUS

1.1 mamuiRuslaensdnguvesuiididnansiiugiu
YDINITAUSHUS
1.2 mymusiuslaglumaiaueen1smusnus
1.2.1 FmsunuavsoUasusiuds
1.2.1.1 suuuulsiuiueu
1.2.1.2 sUdUULUUDY
1.2.1.2.1 »3lneudin

1.2.1.2.2 WNUAIRIINUNR
1.2.2 T5u8nLAYEINEDY
1.2.2.1 NINTUATINLUDININTUAS LN ULF

1.2.3 nM13vUSWusNazdu (Integration by part)

1.3 Usnuslunssuuu (Improper Integral)




gAIN1IVNBYNUS

° 1 I3 fo = Y 1% I ] o
ﬂ'lMUﬁ]IVT u ey v LUUWGﬂ%U%QﬂWN?iﬂVﬂ@HWUﬂ@ Lay ¢ LWUAIANAN

dc dx
dx dx
duxv) du  dv d(u-v) du dv
=—t— =u-—+v-—
dx dx  dx dx ax dx
Ve % —w dl £ _ n—1 %
d(u dx dx —n
| — | = \Vi i O dX dX
2 b
ax \ v v,
dllnu) 1 du d(log,u) 1 du
=—-— =—-log,u-—
dx u dx du u X
d@™) du dee”) , du
=a lha— =e
dx dx dx dx
d(sinu) du d(cosu) - du
=cosu-— =—sinu-—
dx dx dx dx
d(tanu) 5, du d(cotu) , du
=sec u*— =—cosec u-*—
dx dx dx dx
d(secu) du d(cosecu) du
=secutanu-*— — = —cosecucotu - —
dx dx dx dx
d(arcsinu) _ 1 du d(arccosu) _ 1 du
du 1—y° dx du 1—y° dXx
d(arctanu) 1 du d(arccotu) _ 1 du
du 1+4u” dx du 1+4” dx
d(arcsecu) _ 1 du d(arccosecu) _ 1 du
du |u|*/u2—1 dx du |u| G —1 dx
d(sinhu) du d(coshu) du
=coshu +*— —— =sinhu-—
dx dx dx dx
d(tanhu) , du d(cothu) , du
——— =sech " u-— ——— = —cosech” u-—
ax dx dx dx
d(sechu) du d(cosechu) du
—— = —secutanhu-— ———— = —cosechucotu - —
dx dx dx dx




gATNUFINVBINITUIUIAUS

o 4 Id J % A
muuabit ¢ LUUAAIRIv0INISIIUIIUS

4

F1. |0dx=c
F2. 1dx=x+c:>jkdx=kx+c o k Huraa
.. n+1
n X
F3. | x dx = +cn#*—1
v n+1
F4. | — dx=In|x|+c
Y x
u
o U a
F5. la du=—++c,a>0,a#1

v (na

F6. |e'du=e" +c
¥ r —cos(ax)
F7. | sinudu=—cosu-+c = | sinlax)dx = +c,a®0
J v a
¥ r sin(ax)
F8. | cosudu=sinu—+c —> | cos(ax)dx = +c,a#0
J v a
c c tan(ax)
F9. | sec” udu=tanu-+c —> | sec (ax)dx = +c,a®0
J v a
-, F —cot(ax)
F10. | csc” udu=—cotu+c —> | csc” (ax)dx = +c,a#0
J ’ a
. . sec(ax)
F11. | secutanudu =secu+c —> | sec(ax)tan(ax)dx = +c,a#0
J . a
¥ r —csc(ax)
F12. | cscucotudu =—cscu+c —> | csc(ax) cot(ax)dx = +c,a#0
J . a
F13. | tanudu = —In|cosu| +c =In|secu| +c
—n|cos(ax)| In|sec(ax)|
:>J.tan(a><)d><= +c= +c,a#0
a a
F14.Icotudu =n|sinu| +c =—ln|cscu| +c
In|sin(ax)| —n|csc(ax)|
:>Icot(ax)dx =4+ c=—————+ca#0
a a



F15.

F16.

F17.

F18.

F19.

cscudu =n|cscu —cotu| +c =
- du -
—————— —arcsinu+c —
L4 2 o
\/1—u
o du ~
5 =arctanu—+c —
Y14+u ¢
r du

=arcsec|u| +c

=]

secudu =n|secu + tanu| +c = jsec(ax)dx =

csc(ax)dx =

J 2 /2 2
uvu —1 X\ X —a

In|sec(ax) + tan(ax)|

+c,a#0
a

n|csc(ax) — cot(ax))|

C
a

1 X
—————dx=arcsin| — |+c,a>0
2 2 3
a —x
1 1 X
dx=—°arctan(—)+c,a>0
2 2
a +x a a
1 1 X
dx =—-arcsec| |—| [+c,0<a<|¥|
a a




1.1 M3UsNuSIaen15IngUUsWUSIINgn sNugIY
neneudngUlA uilandunausamusiusle

o 1 2
M9819 I j(— +—3 —2x)dx
5 x

35911



a+/x —x*
3

A29819 99 J- o
X
2991 2 %. %
Mg G4fe-x’  4ex X
- 3
X a2
a, 2 _3°

(]]
b4
P
N’-bxu
x
(V]

-3 ’3 3-3
_ 3
T 4% +X =X
-5 .2
-3 =2 3



AI9819 9% j(l -I-sin2 xcscx)dx
591
R e '
™o 14Sin ALY = 12+Snx.
Sin o

=4 4Sinx

o

I( i+ s't‘wxx,cu »)Oll = f (A4Sin 1) oQL
= flolx + fS(n vy

= x—-cosx + C



J v CSC X
A0 99U dx

CSCX —SiNX
ad

591
S
Ny CICX Sinx

Csex-Smn 1

— —Sinx
Simxe

i
= Swmx
1-=3mtx

Siv %
- A
1-Siwtx
y R
s A = SeC »

coytx

.\0& I CS::C-:::nLO(L - I N’CL)LJ!’
= 'to\v\ . <t C,




A0 39U

J‘(smx + cosx)

COS X
35911

\ [ 1 . l
aqo‘m Cs (N +CoS x,) _ Sin A +ATINACHTNC <+ Col W
- e ——
ol Cod 2
' §
- Sw\ %

4 33X ccos X



